Accessories - Stabilizer Kit

Side Frame Shown For
Reference Only

Fork Shown For
Reference Only

Support Insert Shown
For Reference Only

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 AB 1169697 Kit, Stabilizer w/ Hardware (Pair) 1 1
2 Stabilizer, Fork, Myon Junior 1 2
3 Screw, (M6 x 1 x 37mm) 1 4
4 Screw, Socket Head, Cap (M6 x 1 x 37mm) 1 2
5 Nut (M6) 1 6
6 Washer (M6 x 12mm x 1.2mm) 1 6

NOTE: A -Includes items 2 - 6.
B - Review Owner's Manual for specific installation instructions before replacing these parts on the chair.




